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  3.1 ������������ 
 
      3.1.1 �������������������� 

  #+�	�
��8������$%����" � ���� � 5 �]  �� �"
C C��\	 4×6 ���
 �+���� 24 ��� ��	
<��$#���$E�%��9�>&9(���
� 
 
      3.1.2 �������� �!�"#$�������%� 
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����� 
�
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<�	
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�F���F�-��U� 
���
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���8��*+� 20 ���
 Y"�>8�=��$��	#"'�"	�
<�	
��8���>&'���`�	�
�+�
�$
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=�8 
��	
C#�'$
��)���\8
C C#"'��`��>���� �a$#+�	�

=���^ �
8$	�
��	��	�\�
 10-52-10 ���
� 35 	
��
�8��*+� 20 ���
 Y"� 2 %
�*$�� �"
C C=8�$ 1 �����=� 
�
C C���b�
9���^ �\�
�F���F�-c\���
��% 
���
� 35 	
���8��*+� 20 ���
 Y"� 2 �����=��8�%
�*$ #+�	�
	+������9>&9#�	�����=� <�C
=��*+�� 8�$
��'+����� 
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	e�%� �] 2549 �� #+�
	�
�	U�)���\����=E\���\$���-�'+���� �
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�+�	��
�	
�=���)����8�$T 
��&'��� � 2 �] �� �
�'�#+�	�
#���$
���&���"��%�da$��&��	
	e�%� �] 2549 �"	�
��$<b�	�

#���$<����8�
���U�	���\
�� Randomized Complete Block Design (RCBD) �� <�8$��`� 4 
��'$#���$���)���=��� ��'$#���$�C 6 c*+� <�C��
" ��#" �%���<�	�8�$)�$%8��Y�"' �� 
9���D" 
Least Significant Design (LSD) ��$�"* 
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��'$#���$#"' 1 =���)��� 40×40×40 �c������
 (RR1)  
��'$#���$#"' 2 =���)��� 50×50×50 �c������
 (RR2) 
��'$#���$#"' 3 =���)��� 60×60×60 �c������
 (RR3) 
��'$#���$#"' 4 ��'$#���$%��%�� =���)��� 60×60×60 �c������
 (NR) 

�� ��'$#���$#"' 1 da$��'$#���$#"' 3 
9���)8� �����)��� 32 mesh �\	��=����>&'��+�	��)���
�	 
  

 �����1#.���2� 

- %���<�	�8�$#�$�������o����# �)�$�����$%�� ���<	8 %����\$��� %���	���$#
$>�8�

�<���=�&�-
�� <�C�C�����	-�C����	 )�������b8�(\� �	��$�+���� ����b8�(\� �	��$#
$>�8� 
�
����
)�$#
$>�8��� %+���������	�\�
)�$ Chapman <�C%�C (1986) 
                            �
����
#
$>�8� (�\	��(	����
) = (H-d/2-S)×(d/2)2+¶(d/2)3×(2/3) 
                                         H = %����\$��� (���
) 
                                         d = ����b8�(\� �	��$)�$
8��$�#
$>�8� (���
) �Y�"' ��	<���=�&�-  
                                               
�� <�C�C�����	-�C����	 
                                         S = %����\$��	>&*����da$o��#
$>�8� (���
) 
                            >&*�#"'b��#
$>�8��� %+���������	�\�
)�$��
C>$g�  <�C���� (2545) ��$�"* 
                            >&*�#"'b��#
$>�8� (��
�$���
) = 4/3 ¶rh 
                                        r = 
�(�"#
$>�8� (���
) �Y�"' ��	<���=�&�-
��  <�C�C�����	-�C��� 
                                              �	  
                                        h = %����\$)�$#
$>�8� (���
) 

- )���\������	��	  	�
�����	 ���
��cU���	�
���b� ���
��cU���b�
8�$ �+�<=�8$b� 
>�t��	�
)�$b� 
������$%��#"'��\	�� 	�
�+�	��
�	
�)���=���#"'<�	�8�$	�� ���	�
) � 
)���)�$b� �� #+�	�
��8������	b���$%�� 10 b�
�<�8�C��� ��8���&�	��	#�'�#�*$���  

- )���\�#�$�
"
��# �
�98�$>�t��	�
)�$b� �� #+�	�
���%8�(�	 �)�$�*+�
�
� %8�	�
9�	
�+���	
� %8��
C��#D�E�>	�
#+�$��)�$%���
FG���
�
� %8�	�
	
C�� <�$
�#
$>�8� <�C%8�
%���9&*�
���� #+�	�
��� 2 �����=��8�%
�*$ ��*$<�8���� 11:00-13:00 �. <�C#+�	�
���%8�%��� ��

�	 �� #+�	�
���$
�	)�$��$%��
=��C��� <����+���=�%��� ��
�	 �� 
9���
<	
� Dias root 
length ��`����98� 
�	�
%+���� 
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  3.2.2 ),�%�-�.�����/$�������+�0���*���	'�(-������� 

   ���%
�C=�%��E�>b���$%�� �� #+�	�
�	U���$%������C 10 b� �� �"��D"	�
(a	g�%��E�>
b���$�"* 
  - �*+�=��	b� (	
��) 
  - ����b8�(\� �	��$b� (��������
) 
  - %���=�����&�	 (��������
) 
  - ��	g�Cb��b� 
  - ��	g�C��&*�b� 
  - �*+�=��	��&*� (	
��) 
  - %���<�8���&*� (������) 

 - �
����)�$<)U$#"'�C�� �*+���� (  vBrix) 
 - ���
��cU���	
� (���
��cU���) 

                              	�
=��
����)�$<)U$#"'�C�� �*+���� (Total Soluble Solids : TSS) 
�� �+�b���$%����b8�<���%�*��*+���� b��)����$ �+��*+�#"'%�*����������
����)�$<)U$#"'�C�� �*+����
�� 
9� Hand refractometer %8�#"'��������`�   vBrix 
         	�
=��
����	
�#"'�#�#
���� (Titratable Acidity : TA) 
�� �+��*+�%�*���$%�����#�#
���� ��
�C�� �8�$���
o���c��" ��x�
�	�c�� (NaOH) %���
�)��)�� 0.1 ��
���� (N)  �� �"��
�C�� F]��F#��"� (phenolphthalene) %����)��)�� 0.1 
���
��cU�����`������
" ��#" ��" (indicator) )�$��
�C�� #"'�#�#
����  �+�%8�#"'��������%+����
�
����	
�#"'�#�#
�����#" �	��	
�c��
�	��$�"* 

���
��cU���	
�#"'�#�#
���� = N. base×��. base× meg. wt. )�$	
�c��
�	×100  
                                                                                             ��. )�$�*+�%�*�#"'
9� 

�� #"'               N. base = %����)��)��)�$��
�C�� �8�$���
o�� 
                                      ��. base = �+������������
)�$��
�C�� �8�$���
o�� 
                                      meg. wt. )�$	
�c��
�	 = 0.06404 
 
 ����
����"�
-�+��&3
�
 
 
  ���%
�C=�b�#�$�d��� �� 
9���
<	
� Statistic Analysis System 


